	NAME: _____________
	Prob and Stats

	7-3 Confidence Intervals
	DATE: Wednesday, January 06, 2016


Blast from the past:
The average high temperature on January 6 in Portland is 32 and it is normally distributed with standard deviation of 12 degrees.  (Use the online program)

	P(it will be above 40 degrees)
	P(freezing as a high)

	The coldest 5% of days are below what temperature?
	The middle 95% of days are between what temperatures?


	Z scores:
	To find confidence interval after survey:

	Where:

· p is the proportion in your survey who said one result
· n is the sample size.  This is the size of your sample.

· Z is below
· 90% confident = 1.64

· 95% confident = 1.96

· 99% confident = 2.57


	Find Confidence Interval(E).  

For large populations
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	55% of people in a recent survey of 900 people support Obama.  Create a 95% confidence interval for how what percent of people support Obama in the whole population.
	At McDonalds, they ask if people want to donate their change to charity.  In a recent random sample of 240 people, 84 said yes and donated their change.  Create a 90% confidence interval for what percent of all McDonalds customers will give their change away?
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